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HTIT o7 |
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e Please check that this question paper contains 25 printed pages +1 Map.

e Please check that this question paper contains 37 questions.

e Q.P. Code given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please write down the serial number of the question in the answer-book
before attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m.,

the students will read the question paper only and will not write any
answer on the answer-book during this period.
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HTHT=T 4397 :

(i) 3G Y¥T-Y7 H 37 97 & | @4t 357 srfAard 7 |

(i) Y97-97 T: @IS 7 [@Yifoa 8- @Sk, @, W, T, TG </

(i) @WUE & — T GEIT 1 T 20 TglaFeHT JHR & J97 & | FedF Jo7 1 37 # 8 |

(iv) WU — 97 &7 21 G 24 31T TG-FHIT JHR & 97 & | o9 J97 2 371 &7
8 | 37 J91 BT I 40 o5l & e 77 forar ST =iie |

(v) &G T— J97 G&IT 25 G 29 TY-IFT FHR & J97 & | Jo4% 97 3 371 F1 & |
57 J971 &7 T 60 Yreq] @ 37fg 7&7 forar s wifew |

(i) WIZ T — J97 G&I7 30 & 33 JNF-370F JFR & J97 & | YedF Y97 5 37! &1 & |
57 J¥1 &7 IX 120 iee! & 37fe T&7 for@r ST Fifsy |

(vii) @IS F — J97 T&IT 34 T 36 FG-ITGRT/ G- 3TenRa 397 & I57d a7 39-397 & |
Jcdeh G974 371 FT & |

(viii) UG T - Y97 G&IT 37 HIHI=T HIA-MERT I97 & I57&d g 977 & — 87 (a) 5fazr@
2 37%) 3R 37(b) — YT (3 37F) | 39 J97 & FT 5 3F & |

(ix) 5G& 3, & 3 1% gleaneaa WiemEl & g %icl a9r FrHaa 371 e
ol & TIH W TH 3T J9 1597 T & | 57 o1 @ IT dacT gheaned WiamdT &
ford |

@ Us &
(Fgfaemredta wea) (20x1=20)

1. 1815 ¥ ‘foqr gxie’ <Al Aotet feforfaa ° 9 fora & oft 2 1
(A) <THR = @
(B) AL A
) faferm-gem
(D) 3Ater o foemeh
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General Instructions :

Read the following instructions carefully and follow them :

(i) This question paper contains 37 questions. All questions are compulsory.

(it)  Question paper is divided into six sections — Section A, B, C, D, E
and F.

(iti) Section A — Questions no. 1 to 20 are Multiple Choice type questions. Each
question carries 1 mark.

(iv) Section B — Questions no. 21 to 24 are Very Short Answer type questions.
Each question carries 2 marks. Answer to these questions should not exceed
40 words.

(v)  Section C - Questions no. 25 to 29 are Short Answer type questions. Each
question carries 3 marks. Answer to these questions should not exceed
60 words.

(vi) Section D — Questions no. 30 to 33 are Long Answer (LA) type questions. Each
question carries 8 marks. Answer to these questions should not exceed
120 words.

(vii) Section E — Questions no. 34 to 36 are Case-based/Source-based questions
with three sub-questions. Each question carries 4 marks.

(viii) Section F — Question no. 37 is Map skill-based question with two parts —
37(a) from History (2 marks) and 37(b) from Geography (3 marks). This
question carries total 5§ marks.

(ix) In addition to this, NOTE that a separate question has been provided for
Visually Impaired candidates in lieu of questions having visual inputs,
map etc. Such questions are to be attempted by Visually Impaired candidates
only.

SECTION A
(Multiple Choice Questions) (20x1=20)

1. Who among the following hosted the ‘Vienna Congress’ in 1815 ? 1
(A)  Chancellor Duke Metternich
(B) Ernst Renan
(C) William I
(D)  Otto von Bismarck
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2. fTrafafea & ¥ ®H-a1 od goff 9ra ® 3o qo1 ©H At (oo &) 6
fafay wmEnett & omw fesnett o e ?

A) Teg wH
(B) 39TS 98
(C) diged
(D) S ud

3. Tmfafad =e13tl sl HIAThHH hH § FawAd Hitae R & foaehed &1
T T |

I. gas U Raarwa gfuafa =1 761

II. STl S 3RS

[II. S HCI gcamwig
IV. 3TEgIN 3Tl hl 9199 ol
e ;

(A) LILIIL IV
B) ILI, IV, III
(©) LILIV,III
(D) I IV, 1L I

4. &% TIW &1 g & 7T 98! foshed 1 ==A HifT |

196 T & AN H, HHW Flgde! IER H G Hl 3
‘SR ST’ A ATHRAT T |
(A)  dfEar e
(B) Wl gt
(C)  dms farg
(D) ARSI el
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2. Which one of the following religions emerged from eastern India and
spread in several directions through intersecting points on the ‘silk
routes’ ? 1
(A) Hinduism
(B)  Christianity
(C) Buddhism

(D) Jainism

3. Arrange the following events in chronological order and choose the
correct option. 1

I. Formation of Khilafat Committee in Bombay
I1. Jallianwala Bagh Massacre

III. Bardoli Satyagraha

IV. Withdrawal of Non-Cooperation Movement
Options:

A LILIIL IV

(B) ILI,IV,III

(C) LI IV, III

(D) III,1IV,II, I

4, Choose the correct option to fill in the blank. 1
In the beginning of the 19t century, a girl married in a very
orthodox household wrote an autobiography called ‘Amar Jiban’.

(A) Pandita Ramabai
(B) Rashsundari Devi
(C)  Tarabai Shinde

(D) Kailashbashini Debi
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5. Y I fia & 119 hifSe 3R g&t fahew o1 =@ Hifse |
bl T Il
(T2 3E77) (T57)
1. TS I a. T Y
ii. fm wiEe b. 3m@EH
ii.  gged c. IWEE
iv. digare d. ufvew sme
ey ;

(A) i-a, ii-b, iii-c, iv-d
(B) i-d, ii-c, iii-b, iv-a
(C) i-c, ii-b, iii-d, iv-a

(D) i-b, ii-c, iii-d, iv-a

6. ‘aim fgu o= yomelt frafafed @ @ fovm U9 o y=fea 8 2

(A) dafHeTg (B) ufvem s
(C) HaTe™ (D) sTifesm
7. TafaRegd 9 8 -9 YRG 51 99y 921 SieEEe 3deh T 8 2
(A) HERTSE (B) #RG@S
(C)  TSHId (D) anfem

8. TR QP IFIITE T & | g9 FIAl Hi ufgu 3N Tt fohew &1 =M
T |
FYT] : T B SN AhdIAD TILATSTT o foTw 3ieh B |
HITII : 39 Taha ariores avgl o o9 Zohta i 9TEdT &l %H & |
HErEd ferdt 2 |

farehey

(A) H9F 198 g, Afchd II T4 2 |

(B) ¥ I T4 &, W 11 Tl 3 |

(C) Y19 I QHI dal & 3 I, T 6l Hal =are ¢ |

(D) @A 19 II gHi T8l g fehd 11, I sl T&t e g7 2 |

32/5/1-15 Page 6 of 27

Visit on - Humanityhub.in




Humanity Hub - The Rising Star's Institute

AN
5. Match Column I with Column IT and choose the correct option. 1
Column 1 Column II
(National Park) (State)
1. Kaziranga a. Madhya Pradesh
ii.  Jim Corbett b. Assam
iii.  Sunderbans c. Uttarakhand
iv. Bandhavgarh d. West Bengal
Options:

(A) i-a, ii-b, iii-c, iv-d
(B) i-d, ii-c, iii-b, iv-a
(C) 1i-¢, ii-b, 1ii-d, iv-a

(D) i-b, ii-c, iii-d, iv-a

6. In which one of the following states is ‘bamboo drip irrigation system’
prevalent ? 1
(A) Tamil Nadu (B) West Bengal
(C) Meghalaya (D) Odisha

7. Which one of the following is the highest ‘bauxite’ producing state of
India ? 1
(A) Maharashtra (B) Jharkhand
(C)  Gujarat (D) Odisha

8. Two statements, I and II are given below. Read both the statements and
choose the correct option. 1
Statement I : Division of power is good for democratic systems.

Statement II : It helps to reduce the possibility of conflict between
social groups.

Options:

(A) Statement I is true, but II is false.

(B) Statement I is false, but II is true.

(C) Statements I and II are true and II is the correct explanation of I.

(D) Statements I and II are true, but II is not the correct explanation of I.
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9. 9RA § fourh Afrerl & dcar ¥ walyd a9d UG faehed &1 =w9F il |

(A)
(B)
()
(D)

10. YRAE

YR qifaerT 7 fagr

favar & g

g = — i g aisd

T el - 3w i

LGkl - o9 9 "R

aehl T I - S dided 9 SR

gfag™ o vy-fwga ¥ gafad Hefalga sl 0 afey i w8

fereg =1 ==H I |

L.

AT UsT 9 ford) ot g8 1 Torehia a9 o7fierr gt fomam 2 |

II. gfagd gt Jmfes o et ff 98 =1 uee %9 3R =R w1 6
STSITEN a1 & |

[II. dfaad 99 & YR | Ty IH a9 frdl TE & Heqrd i duifeh
YT HT 2 |

IV. g diftieh TgEl § UHdT HTad i % e smee i gifies Amal
T g < 1 AMRHR a1 B |

forerea :

(A) Had LI IIHE 2 |

(B) aad [ IIdIVHS B |

(C) Haa LIIFIVHE B |

(D) e I III & IV S & |

11. 9Rd & A AN  ToHIdeh gall o GuR o o eafafga & @ sF-a

ey I3MT ?
(A) <d-sed hl Uk & fou Flaum g foma |
(B) IEIearl sl 9Y-UF o g TR HIHAT h1 ST AT 81T |

()
(D)

32/5/1-15

IAEERT =l I9Y-TF o GRT TqHT Fufd ST S ST FA |
ot gl Sl TS FAE BT 3R AR e a1 e s fea |
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9. Choose the most appropriate option regarding the division of legislative
rights in India. 1
Subject list in Subjects
Indian Constitution
(A) Union List — Defence and Commerce
(B) State List — Police and Agriculture
(C) Concurrent List — Forest and Communication
(D) Residuary Subjects — Computer Software and Trade

10. Read the following provisions regarding Secularism in the Indian
Constitution and choose the correct option. 1

I. The Indian State has not adopted any religion as its official
religion.

II. The Constitution gives freedom to all the citizens to practice and
propagate any religion.

III. The Constitution declares any kind of discrimination done on the
basis of religion to be legal.

IV. It gives the government the right to intervene in religious matters
for ensuring equality within religious communities.

Options:

(A)  Only I, IT and III are correct.
(B)  OnlyI, IT and IV are correct.
(C)  OnlyI, III and IV are correct.
(D)  Only II, IIT and IV are correct.

11. Which one of the following steps has been taken by the Election
Commission of India to reform political parties ? 1

(A) Amended the Constitution to prevent defection.

(B) Candidates will have to give the details of criminal cases on
affidavit.

(C) Candidates will have to give details of their property on affidavit.

(D) It has been made mandatory for all parties to conduct
organizational elections and file income tax returns.
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12. = @ s fiw T E | A sAfyeem (A) 3 RO (R) § | gFT el B ufg
3R T faehed 1 =39 HIRT |
HTYHIT (A) : ARA H TGEATA ALY T ST 2 |

FRU(R) : I YR <l gl "HETRh 3T Wimfee fosgdeti i gde e 8§
qTq B |

forerea :

(A (A) 3R (R) gHI T& 8 3R (R), (A) H & == 7 |

(B) (A) 3R (R) g1 T& 7, AR (R), (A) T & =amen 757 2 |
(C) (A) GEl g, Al (R) TeTd B |

(D) (A) T 7, dfeT (R) &t 2 |

13. YRA % AAYM o IIER MHfAIRad § | SH-Hl Toh g W9 g 2

(A) g
(B) TGt
(C) =T
(D)  TeEAHI

14. 9 & %o 19 I fau 7 8 | SF1 9] &1 dieu 3R ¥8 faehed 1 ==

T |

HY7]: WA g fafi sqa@r) § 9fshd &9 9 IEH ¢ W@l 8 3N ey,
?ﬁm,a@a,ﬁwamﬁwﬁmﬁﬁ%ﬁ%ﬁﬁm@

|

FYTII : s faumm it Torifae  Afeate 3 ToHifas Maed =
TesIeh Sttad H AfgeAteTl shl fHehT hl IGIH H &Il hl 7 |

farepeu -

(A) %19 g, afehd 11 7o & |

(B) I [ 7d 7, Afehd 11 T8t 8 |

(C) A 19 II I €&l & 3 11, [ sh! &t s 2 |

(D) 9 19 11 T T8l §, Afekd 11, 1 3h1 T&t = 787 2 |
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12. Two statements are given below. They are Assertion (A) and Reason (R).

Read both the statements and choose the correct option. 1
Assertion (A) : Multi-party system has been adopted in India.
Reason (R) : It is capable of accommodating all the social and
geographical differences in India.
Options:
(A) Both (A) and (R) are true and (R) is the correct explanation of (A).
(B) Both (A) and (R) are true, but (R) is not the correct explanation
of (A).
(C) (A)1is true, but (R) is false.
(D) (A) is false, but (R) is true.
13. Which one of the following is a scheduled language as per the
Constitution of India ? 1
(A)  Bhojpuri
(B)  Garhwali
(C) Nepali
(D) Rajasthani
14. Two statements, I and II are given below. Read both the statements and
choose the correct option. 1
Statement I : Women are now actively contributing to various
professions including roles as doctors, engineers, lawyers,
managers and university teachers.
Statement II : Political expression of gender division and political
mobilization helped to improve women’s role in public life.
Options:
(A) Statement I is true, but II is false.
(B) Statement I is false, but II is true.
(C) Statements I and II are true and II is the correct explanation of I.
(D) Statements I and II are true, but II is not the correct explanation of I.
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15. TH BI © TMa H Tk fhHM e o HEHR § I HIHh AN g W =R Al 2,
Tifeh 98 30 9198 b T TeTT T giaT | 3Tl 9 98 S d Y S gl W
O AT g | 98 - AR FEHR HR oeh Gl ! 0T el @ |
39 T ST H Sk <hl Y{HERT T TH IT=BT qUH HHIRGd § & hiA-A1 7 ?
(A) s Teh HghHl RUCAl & &9 H i Hdl g |
(B) % FRUI-I ! fedfa 1 gloams=e s 2 |
(C) o a&gsti o1 3fad AEgH-YeH Fifead ot 2 |

(D) S TR <Rl SRUT-SITAT 9§ =TT @ |

16. feu wu fuz =t 2Rau | o ° foman 99 aren & f=foiRaa & @ fore anfdes
&k o ITqId AT & 2

(A) St
(C) qdiI (D) =gk

FIg: RHICIRGd 37 @acT gleeartad ahemfaal & (/g 377 &1 16 & € W& /|
‘g h1 Wt iR % FEfaRad § @ fohg & % oiarq Tl @ ?

(A) STl (B) Tgeaeh
(C) qdEe (D) =g

<

17. = 2 wed for mu g | I AfywAa (A) 3 RO (R) 2 | SF1 el &1 ufey
3R T fashew &1 == KT |
WW(A):%[ﬁwﬁa‘qwﬁaﬂwésmm%ﬂﬁW@ﬁmﬁﬂﬁ

|

HR (R) : gﬁ Y ool o o T SROMgR 3R fomiy St hl Sedd ggdl
|

fr&ea ; . .

A QWMB AT LM @R, AT AR |
(B) (A) 3 (R) IF1 &l 7, Afrd (R), (A) I Tl = 757 2 |
(C) (A) "8 7, Al (R) Teld @ |

(D) (A) Ted 7, Afhd (R) T&1 2 |
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15.

16.

Note :

17.

32/5/1-15 Page 13 of 27 P.T.O.

In one of the small villages, a farmer borrows money from the village
moneylender at a high monthly interest rate but is not able to repay it
back. Next, he borrows it from a bank at a lower interest rate. Gradually
he earns and pays back the loan to the moneylender and the bank.

Which of the following best describes the role of the bank in this credit
situation ?

(A) The bank acts as a cooperative lender.

(B) The bank facilitates a debt-trap situation.

(C)  The bank ensures a fair exchange of goods.

(D) The bank saves the farmer from debt-trap.

Look at the given picture. The work being done in the picture comes
under which one of the following economic sectors ?

(A) Primary (B) Secondary
(C) Tertiary (D) Quaternary

The following question is for the Visually Impaired Candidates only,
in lieu of Q. No. 16.

‘Floriculture’ comes under which one of the following sectors of the
economy ?

(A) Primary (B) Secondary
(C) Tertiary (D) Quaternary

Two statements are given below. They are Assertion (A) and Reason (R).

Read both the statements and choose the correct option.

Assertion (A) : Rural poor families are still dependent on informal
sources of credit.

Reason (R) : For obtaining loan from banks, collateral and special
documents are required.

Options:

(A) Both (A) and (R) are true and (R) is the correct explanation of (A).

(B)  Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(C) (A)1is true, but (R) is false.
(D) (A) is false, but (R) is true.
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18. Tafafaa o @ wH-a1 Iedisor § i B 2
(A) SIYR 3TEEN I FGMT

(B) SR AUl hl BT
(C) AR GRI GEY % W 0T St
(D) aEg3l W AT, fma e Ser

19. T=fafga 4 9 frm g 1 wRd °§ TR | REed Edileeh & ?

(A)  wTafs
B) gt
(C) qdEeh
(D) =qIH

20. fou MU @@l # ¥ w0 % MU= Hial B gHT AR TE faheq w1 TIA

HIRIT |

I %

II. WEHR

III. H&hil FrHfat

IV. =Rl

farepeu :

(A) I 19 II

(B) had 1149 III

(C) had 19 III

(D) had 19 IV
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18.  Which one of the following is included in ‘liberalization’ ? 1
(A) Promoting trade barriers
(B) Removing trade barriers
(C)  Controlling the other country through trade
(D) Increasing import, export duty on goods
19. Which one of the following sectors has the highest share in employment
in India ? 1
(A)  Primary
(B)  Secondary
(C)  Tertiary
(D) Quaternary
20. Select the formal sources of credit from the given sources and choose the
correct option. 1
I. Bank
I1. Moneylender
III. Cooperatives
IV. Businessman
Options:
(A)  OnlyIandII
(B)  Only II and III
(C) OnlyIand III
(D)  OnlyIand]IV
32/5/1-15 Page 15 of 27 P.T.O.
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Qus @
(arfa e1g-3wita W) (4x2=8)
21. Hidgd! yAmedl ¥ Ygd WRAIT IUHGIEIT hl SATITEh J¢deh o JdIE H ol
feufa =1 oft 2 =T hifvw | 2
22. (a) ‘9GS @ 3mE qAT wEEig wgEl H Had 8 17 Sergr afgd 5@
U hl =TT FifT | 2
AT
b) “ggmEriE Sa # o foma waEn A @fis 9w S 8 17 Ierewr afga 39
A hl =TT FifvT | 2
23. YRAY Gfau™ | faehdientur <l STTagehdl I TR hl T3 ? TS hifW | 2
24, IR I YT SHH H oA Td HAR GIEFRh § fIeha teh ged e
@1 ? TIe hifeu | 2
wUE T
(erg-3ada aeA) (5x3=15)
25. (a) WGAT AT QA H HAfGsll hl YT i ISR dlgd TS
ST | 3
AT
(b) S IATEET & S WA olieh hematl 3T Tdiehl 7 Tsede & o=
! Tohd ThR Teq oAl ? ISR Higd SATEAT HIT, | 3
26. YR HY W Iyl o fohegl dH THIET ST 90 HINT | 3
27. WA H USHIfae ol o que foheal = gtfoRn o1 fogatwor Hifsr | 3
28. YR <hl HTcHeh MO FawAT <hl foheal o foiwaratt <1 avH hifve | 3
29. IqHE THY H gROiIAr 1 fouy fomg & fou Afem = 59 w3 2 3w
gigd samea i | 3
32/5/1-15 Page 16 of 27
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SECTION B

(Very Short Answer Type Questions) (4x2=8)

21. Why was the Indian subcontinent central to the flows of the trading
network before the sixteenth century ? Explain. 2

22. (a) “Minerals occur in igneous and metamorphic rocks.” Explain the
statement with example. 2

OR

(b)  “The ocean waters contain vast quantities of minerals.” Explain

the statement with example. 2

23. Why was the need for decentralisation recognized in the Indian
Constitution ? Explain. 2

24, How have the developments in information and communication

technology been the major factor to enable globalisation ? Explain. 2
SECTION C
(Short Answer Type Questions) (6x3=15)

25. (a) Explain the role of women in the Civil Disobedience Movement,
with examples. 3

OR

(b) How did the Indian folklore and symbols strengthen the idea of
nationalism during the twentieth century ? Explain with

examples. 3
26. Describe any three impacts of globalisation on Indian agriculture. 3
27. Analyse any three challenges faced by political parties in India. 3
28. Describe any three characteristics of the Indian federal system. 3

29. Why has the issue of sustainability become essential for development in
present times ? Explain with example. 3
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31.

32.

33.

34.

(a)

(b)

(a)

(b)

(a)

(b)

(a)

(b)
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Wus ¥
(e -swia w9a) (4x5=20)
ATl TURIST o Thishol H SYOU HicEHT i it w1 goared
T | 5
HAAT
STt oh TEhIsh(Ul H ATl I foTTeh <hl YT 1 HeAThA hil | 5
“Tafamtor Iemm ew1 & faeem K1 T owgl Id B 17 39 HeF Sl FEEd
CINEL 5
HAAAT
“SiY TF I THGE b [k & |7 38 HIA hl ~AHTI 38UY | 5
STEATA R TS I HH hd H TARhAT ohl Y[Heh! 1 ISR Hfgd
ST T | 5
3T
AThds Tohd TR Ush Y IMMEH & ? ICTEW0N Higd TUSE hifT | 5
3R TIATCTER o HTesI-e Ud sl &eh § 3Tt TS ShifT | 5
3T
amfefer nifdfafern o mfed wa smEmfsd &= § Fa Tuse I | 5
wus &
(hE -3 /| - AT U9 (3x4=12)

feu Tu &t =i ufey 3T 38k A= QU T JeAT % IR AT

BUTE WA TS

SFY TEeE okl T 1780 ¥ 777 ol A Ush WTdligsh UiHehl ohl

gt & o, e ge i 3 uforfya form, g fopelt o fow 3Suersy

TR qhehl, ST ferdll o gura d 781 87 | I T8 9ot ura 4 99 Ion
Tl SRR MET § IAWE, ot s 3em off, 3R 38 o Waadr W
Al ot | fEh & wR fammae sar o S gt 6 fosht @ 2 gvagr ot
IS & | Tifehd T1Y & 98 YRA | $HREIG IS MU AT H S[ET eIt
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SECTION D

(Long Answer Type Questions) (4x5=20)

Evaluate the role of Giuseppe Mazzini in the unification of the
Italian Republic.

OR

Evaluate the role of Otto von Bismarck in the unification of
Germany.

“Manufacturing sector is considered the backbone of development
of the country.” Justify the statement.

OR

“Agriculture and Industry move hand in hand.” Justify the
statement.

Explain with examples the role of democracy in the reduction of
inequality and poverty.
OR

How is democracy a legitimate government? Explain with
examples.

Explain the differences between public and private sector of
economic activities.

OR

Explain the differences between the organised and unorganised
sector of economic activities.

SECTION E

(Case-Based/Source-Based Questions) (3x4=12)

Read the given source and answer the questions that follow :

Print Comes to India

From 1780, James Augustus Hickey began to edit the Bengal Gazette,

a weekly magazine that described itself as ‘a commercial paper open to

all, but influenced by none’. So it was private English enterprise, proud of

its independence from colonial influence, that began English printing in

32/5/1-15
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oft BUAT 1 | $HE AT B TR S aRA g™ A Tgaehl T gehamt ot
oo, ofR T8 Wil ST-UT STEEN & YoM ol Ticalgd Sl I& T
e S snufafses o9 & Sfd W B g9l 8 39l &1 9 T | T3NEd] Tl
% I T H-UN TA-IEEHN DU M | FO RgEarl Wi 30 FEEX Do
Y | U E] H U o7 TS UHHATET UF o hisl @ TR 9e= g’
YRR F7767 T2 |

(34.1) g JAMH okl g guifed ufSemt ‘gwor 792 fopg wmeT ©

TRITRIA g3 ? 1
(34.2)  STH ATTEeH fgaehl W gt w1 feharT TR 2 1
(34.3) 1780 o TIh o CNIA fohd STEETY ohl TicHTRd foRdT TRT 2 35 A1

TiedTed fomam T 2 1+1=2

35. feu o &g =1 dfeu o 3uss Hiw feu oyt & 3w dfSe
T hT TILT0T

FAT TR W Faierd dlieh § U TR0 hl gehleld 1968 § #o7e
377 U7 4 i | AT 1974 H IHER 1 U IEAh T 597 SY2IpT H 39
o o TSt & ool Y v IR R | wegfa 7 | 1987 § greeaie SR
e grn dfvee TR W GO S0 § qogr IrteH fohen | 39 e |
‘Faa 9iwviE faehE’ (Sustainable Development) 1 HehedH J&qd 3R
T GIIUT hl Jehlaid <hl I%WWﬁ EHRT I 9157 (Our Common
Future) 3% ¥ ged® & &9 H THING g5 | 39 ¥ § U R "Agwo
ATeE fe € SH, Seia § 1992 7 SRS geelt sred g foram |

(35.1) Tad Ao faesm 1 319 Tyse i | 1

(35.2) ‘Toisl-21" =i fohH STAUSE TFHEH | Talehd fohal TRIT 2 1

(35.3) T o Tehrgl 2l IROMHT shl =T shifvu | 2x1=2
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India. Hickey published a lot of advertisements, including those that
related to the import and sale of slaves. But he also published a lot of
gossip about the Company’s senior officials in India. Enraged by this,
Governor-General Warren Hastings persecuted Hickey, and encouraged
the publication of officially sanctioned newspapers that could counter the
flow of information that damaged the image of the colonial government.
By the close of the eighteenth century, a number of newspapers and
journals appeared in print. There were Indians, too, who began to publish
Indian newspapers. The first to appear was the weekly Bengal Gazette,
brought out by Gangadhar Bhattacharya, who was close to Raja
Rammohan Roy.

(34.1) In which language was ‘Bengal Gazette’ edited by James Augustus
Hickey published ? 1

(34.2) Why was James Augustus Hickey persecuted ? 1

(34.3) Which newspapers were encouraged during the 1780s ? Why were
they encouraged ? 1+1=2

35. Read the given source and answer the questions that follow :

Conservation of Resources

At the international level, the Club of Rome advocated resource
conservation for the first time in a more systematic way in 1968.
Subsequently, in 1974, Gandhian philosophy was once again presented by
Schumacher in his book Small is Beautiful. The seminal contribution
with respect to resource conservation at the global level was made by the
Brundtland Commission Report, 1987. This report introduced the concept
of ‘Sustainable Development’ and advocated it as a means for resource
conservation, which was subsequently published in a book entitled Our
Common Future. Another significant contribution was made at the Earth
Summit at Rio de Janeiro, Brazil in 1992.

(35.1) Explain the meaning of sustainable development. 1
(35.2) In which international conference was ‘Agenda-21’ accepted ? 1
(35.3) Explain any two outcomes of the Summit. 2x1=2
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36. feu U Eq =l ufeu 3R 3°es = feu v ywi & I i
TgahTd wiufa=n @ wor

Seni o ITATaT UTHIT & T TEd KT T Ueh 3T |l Tghid |AHfaar & |
TEhRI AT o T I AT Sl S &1 § TN o (T THT & 7 |
%3 TR 1 gEhrl Aiufaal dwa &, I — fREHl, SR we i awed
SCATIG <hl TEhII AHIET | P FghR] AHI FMYL o ToGh Th T1d H DM
FHA B | 39h 2300 UM G B | I8 U4 TEEN O THT TS Rl
g | 39 ST St Sl FROMYR A U, 39 Tehil GMfd 4 o6 & a1 R0 I
fopam 7 | 39 IS 1 SWUTA HSEAl i el ¢ oh T RAT a1 g | I8 ROl
I o &G sl 1 GHU SR Y& oRAT ST Hhal 2 |

Ik TghR AT HiY ITHTT GG, Tl AT HY SATIR HH, ASA! The,
T M 3R 31 Tafia TR o @i o ot =01 g & 3 |

(36.1) ‘FYH TgHRI FUGAT U GG I KU YGH HH o T 99 hd

JqcTeY Ul @ ? 1
(36.2) ‘FUH HEHR AUCAT I FGHAI hl fohd THR o FI YGH Hid
g ? 1
(36.3) U wewHTt wfufat wmior &= § i aE @ 2 2
wus o
(wTatr SHivTe- ST U9 ) (2+3=5)

37. (a) TCU T WA % TSHIIAH W@I-AHEA (8 27 W), § & TAF 6l ‘A’ 3R
‘B o &9 H 3fhd foram mm 3 | FFfafea Sl <At agmar 8 35
qgTHT 3T 39k Tl 918 39 gHIg @it 18 Wrst w fafEgn .

A, I8 TIM S8l 1920 H WA TS ShiUH 1 STEeRMA g3 o1 | 1

B. 98 ¥JM W@l MU 7 THeh hid qIeT T | 1
(b) WRA % TE TSHIfde W@-AFES § fAfafead & @ gl #7 i

ST TRl | guIsy 3R 3 9™ TR : 3x1=3

(i)  JANSAT — WIg FTEh hl @M

(i) AHEY — A ST G5

(iii)  PISAT — THE FHGT qo

(iv) HHTHeahy — STaUsd™ Ay oo
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36. Read the given source and answer the questions that follow :
Loans from Cooperatives

Besides banks, the other major source of cheap credit in rural areas
are the cooperative societies (or cooperatives). Members of a cooperative
pool their resources for cooperation in certain areas. There are several
types of cooperatives possible such as farmers cooperatives, weavers
cooperatives, industrial workers cooperatives, etc. Krishak Cooperative
functions in a village not very far away from Sonpur. It has 2300 farmers
as members. It accepts deposits from its members. With these deposits as
collateral, the Cooperative has obtained a large loan from the bank.
These funds are used to provide loans to members. Once these loans are
repaid, another round of lending can take place.

Krishak Cooperative provides loans for the purchase of agricultural
implements, loans for cultivation and agricultural trade, fishery loans,
loans for construction of houses and for a variety of other expenses.

(36.1) How do ‘Krishak Cooperatives’ secure funds for providing loans to

their members ? 1
(36.2) What are the different types of loans that ‘Krishak Cooperatives’
offer to their members ? 1
(36.3) Why are such cooperatives desirable in the rural areas ? 2
SECTION F
(Map Skill-Based Question) (2+3=5)

37. (a) Two places ‘A’ and ‘B’ have been marked on the given political
outline map of India (on page 27). Identify them with the help of
the following information and write their correct names on the
lines drawn near them :

A. The place where the session of Indian National Congress
was held in 1920. 1
B. The place where Gandhiji broke the salt law. 1
(b)  On the same political outline map of India, locate and label any
three of the following with suitable symbols : 3x1=3
(i) Bailadila — Iron ore Mines

(ii))  Namrup — Thermal Power Plant
(ii1) Kandla — Major Sea Port
(iv) Meenam Bakkam — International Airport
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Fig: [RHlcifgd o7 #dci gheartaa qhgmaal & o7 397 §&q7 37 & € T
&

fe-87 et 741 & 3 T | 5x1=5
(37.1) 39 Ts¥ &1 9W fafau @i 1927 0 9™ T g &1 AfGasH
T o |

(37.2) 39 TIM o1 A9 fARGw STgf iefisht 5 77 i arer o |

(37.3) 39 U¥ ol 9 faIRau &7 doAfea g 37%h hl @4 f€9d & |
(37.4) fTora U= @ Ay il ot g9w fodrd @ 2

(37.5) 38 TS ol A1 ARG ST8T et T Ja- oo 3 |

(37.6) 3T ST o1 W fARGU 8T HAHeapd ARSI I U0 f29d 7 |
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Note : The following questions are for the Visually Impaired Candidates
only, in lieu of . No. 37.

Attempt any five questions. 5x1=5

(37.1) Name the state where the session of Indian National Congress
was held in 1927.

(37.2) Name the place where Gandhiji broke the salt law.

(37.3)  Name the state where Bailadila iron ore mines are located.
(37.4) In which state is Namrup Thermal Power Plant located ?
(37.5) Name the state where Kandla sea port is located.

(37.6)  Name the state where Meenam Bakkam international airport is

located.
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